




3/4

x4

Unit: mm

25.4

8.0 1

3

96m
m

9
6

m
m

2

Four Nylon Wall Plugs

Wall Mounting (Optional)

Use the four corner holes of the M bracket to mark holes on a wall. Drill four holes in a wall.1 2 Insert the screw anchors and screws into the holes.

M4 Screws

Unit: mm

x4
25.4

4.0

2.38

9

Insert nylon wall plugs into the wall. Use mounting screws to secure the main frame to the wall 
through the nylon plugs.

3

Use washers, spring washers, and nuts to attach the M-type bracket to the back of the 
LTE7490.

Follow steps 4-5 in the drawing to align the rotating bracket with the M-type bracket, insert the 
M8 bolt through the holes, and use washers, spring washers, and nuts to secure it.

Follow steps 2-3 in the drawing to attach the rotating bracket to the mounting main frame 
using washers, spring washers, and hex nuts. Do not tighten the nuts until you adjust the 
mounting angle in the final step. 

1

32

Spring Washers

x2

M6 Hex NutsM Bracket Bracket-1

Main Frame

x2

x2x1

x1

x1

Washers

Step 5    Pole / Wall Mounting: Connect M Bracket and Main Frame

M8 Spring Washers

x2

M8 Screws

x2

x2

M8 Washers

M8 bolt

x1

-

1
2

3 4 5

5-4



4/4

Use washers, spring washers, and nuts to attach the indoor bracket to the back of the device.1 2 Use washers, spring washers, and screws to attach the main frame to the indoor bracket.

M8 Spring Washers

x2

M8 Screws

x2

x2

M8 Washers

Indoor Bracket

Main Frame

Table Stand (Optional)

x1

x1

Pole Mounting (Optional)

M6 Spring Washers

U-Type Screws

x2

x4

M6 Washers

x4

M6 Hex Nuts

x4

Place the U-bolt around a pole. Insert the U-bolt into the holes on the main frame. Use a wrench 
to secure the main frame to the pole with the washers, spring washers, and nuts.

1

M6 Spring Washers

x2

M6 Washers

x2

M6 Hex Nuts

x2

1

2

Step 6    Pole / Wall Mounting Angle Adjustment 

-40°
horizontal

+40°+0°
horizontal

45°
vertical

-48°
vertical

Connect the PoE injector to a power outlet. Use the LTE Ally app to find the optimal LTE signal strength and manage your LTE7490.
Note: After configuring the LTE7490, turn WiFi off.

Step 7    Grounding

Secure a green/yellow ground cable (18 AWG or smaller) to the LTE7490’s rear panel using the M4 ground screw.
Attach the other end of the cable to the ground, either to the same ground electrode as the pole you installed the device on or to the main grounding electrode of the building. 
Follow your country’s regulations and safety instructions to electrically ground the device properly. Qualified service personnel must confirm that the building’s protective earthing 
terminal is valid.


